INDIAN SCHOOL AL WADI AL KABIR

Class: VIII Department: Social Science
Worksheet No:15 Topic: INDUSTRIES (Geography) Year: 2021-22
1 | Multiple Choice Questions: -

1 | Which one of the following is a secondary activity?
a) Coal mining industry  b) Steel industry c) Fishing  d) Agriculture
2 | Which industry is the base of all other industries?
a) ITindustry b) Iron and steel industry c) Tourism industry d) Leather industry
3 | What is the output of iron and steel industry?
a) Iron ore b)Pigiron c)Steel d)None of these
4 | Which one the following city is known as the 'Manchester of Japan'?
a) Pittsburgh b) Ahmedabad c) Osaka d) Tokyo
5 | Major industrial regions are located near
a) Deserts b) Sea Ports c) Glaciers d) Mountains
Il | Fill in the blanks: -
6 | The first cotton textile mill of Ahmedabad was established in 1856.
7 | The river Yodo provides sufficient water for the textile mills in Osaka.
8 | Jamshedpur lies on the banks of the river Subarnarekha.
9 | Pittsburgh is an important steel city in USA.
10 | The public sector industries are owned by the government.
Il | Write True or False: -
11 | Mineral-based industries use products from seas and oceans as raw materials.
a) True b) False
12 | Silicon Valley is a part of Santa Clara Valley in California.
a) True b) False
13 | Cotton textile industry is an example of agro-based industry.
a) True b) False
IV | Very short answer type questions: -
14 | What is secondary activity or manufacturing?
The secondary activity or manufacturing is to change raw materials into products of more value to
people.
15 | Name the three common methods of the classification of industries.
Industries are classified on the basis of raw materials used, size and ownership.
16 | Why is Bangalore known as 'Silicon Plateau'?
Bangalore is located on the Deccan Plateau, therefore it is known as 'Silicon Plateau'.
17 | Which city in India is known as the 'Manchester of India'?
Ahmedabad is known as the 'Manchester of India’.
V | Answer in brief: -
18 | Describe the concept of 'Industrial System'.
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An industrial system consists of inputs, processes and output.

The inputs are the raw materials, labour and costs of land, transport, power and other
infrastructure.

The processes include a wide range of activities that convert the raw materials into finished
products.

The outputs are the end product and the income earned from it.

19 | Explain the classification of industries on the basis of size.

Based on size, industries can be classified into small scale and large-scale industries.

Small scale industry: Cottage or household industries are a type of small-scale industry where
the products are manufactured by hand, by the artisans.

These industries use lesser amount of capital and technology as compared to large scale
industry.

Large scale industry: These are industries that produce large volumes of products.
Investment of capital is higher and the technology used is superior in large scale industries.
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